TRERERER (SNTEE)
(1) —RIRRIEEHAE

IREEE# . 1000pg-TEQ/gbLTF

No. | EHEsHeRs A I AERER

[pe-TEQ/g]
1 [sWvi=FEm |[SWv=FEH |REBREREXKE R1.10.7 8.1
2 INE R1.12.12 0.11
3 . ke ¥ H R1.12.12 0.0046
4 mnA R1.12.16 27
5 [N R1.12.16 0.00063
6 e e EBE R1.12.16 3.9
7 Fix R1.12.16 6.1
8 |#am AT = AHET R1.11.27 7.7
9 8N R1.8.1 7.0
10 |fTHT™ TH™ ¥H R1.8.1 1.1
11 BE R1.8.1 24
12 |__. . P P=4 R1.11.15 12
13 | PriR WA E R1.11.15 37
14 ITES:)) R1.12.4 1.6
15 A R1.12.4 3.1
16 |8RgEmh e EX =) R1.12.4 0.14
17 KR R1.12.4 2.3
18 [R5 R1.12.4 0.78
19 |REM AEM RERTRE R1.11.19 2.1
20 b =F R1.10.8 0.18
21 TFF#H R1.10.8 0.018
22 HEm R JREN R1.10.8 45
23 L #7480 R1.10.8 0.29
24 = R1.11.18 0.094
25 |=#im =B = R1.11.18 1.8
26 BFHE R1.11.18 5.3
27 _ _ aH# R1.8.23 9.4
28 BRT all g R1.8.23 9.6
29 ] R2.2.14 3.1
30 | . v me I K R2.2.14 3.8
P SLHEH | SLAEFH LS R20 12 21
32 JIE R2.2.14 0.20
33 |EBsE™ A= kA R2.1.9 1.7
34 LS R1.12.18 15
35 |=EH X EHT BRI AR S R1.12.18 2.1
36 MHEH R1.12.18 0.89




(2) FEREDIKRAE
IBIEE% - 1000pg-TEQ/gLLTF

No. | EHEHeRs 5 I AEER
[pe-TEQ/g]

1 ) R111.21 5.2

2 25 R111.21 29

3 AR R111.21 21

2 | o e R111.21 0.72

5 AR RET ) R1.11.21 3.9

6 Be R111.21 83

7 fit] & R1.11.21 5.1

8 % R1.11.21 35




